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Chapter 2
Review of Accounting

Discussion Questions

2-1. Discuss some financial variables that affect the price-earnings ratio.

The price-earnings ratio will be influenced by the earnings and sales growth of
the firm, the risk or volatility in performance, the debt-equity structure of the
firm, the dividend payment policy, the quality of management, and a number
of other factors. The ratio tends to be future-oriented, and the more positive the
outlook, the higher it will be.

2-2. What is the difference between book value per share of common stock and
market value per share? Why does this disparity occur?

Book value per share is arrived at by taking the cost of the assets and subtracting
out liabilities and preferred stock and dividing by the number of common shares
outstanding. It is based on the historical cost of the assets. Market value per
share is based on the current assessed value of the firm in the marketplace and
may bear little relationship to original cost. Besides the disparity between book
and market value caused by the historical cost approach, other contributing
factors are the growth prospects for the firm, the quality of management, and the
industry outlook. To the extent these are quite negative or positive; market value
may differ widely from book value.

2-3. Explain how depreciation generates actual cash flows for the company.
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The only way depreciation generates cash flows for the company is by
serving as a tax shield against reported income. This non-cash deduction may
provide cash flow equal to the tax rate times the depreciation charged. This
much in taxes will be saved, while no cash payments occur.

What is the difference between accumulated depreciation and depreciation
expense? How are they related?

Accumulated depreciation is the sum of all past and present depreciation
charges, while depreciation expense is the current year’s charge. They are
related in that the sum of all prior depreciation expense should be equal
to accumulated depreciation (subject to some differential related to asset
write-offs).
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2-5.

2-6.

How is the income statement related to the balance sheet?

The earnings (less dividends) reported in the income statement is transferred to
the ownership section of the balance sheet as retained earnings. Thus, what we
earn in the income statement becomes part of the ownership interest in the
balance sheet.

Comment on why inflation may restrict the usefulness of the balance sheet as
normally presented.

The balance sheet is based on historical costs. When prices are rising rapidly,
historical cost data may lose much of their meaning—particularly for plant and
equipment and inventory.

Explain why the statement of cash flows provides useful information that goes
beyond income statement and balance sheet data.

The income statement and balance sheet are based on the accrual method of
accounting, which attempts to match revenues and expenses in the period in
which they occur. However, accrual accounting does not attempt to properly
assess the cash flow position of the firm. The statement of cash flows fulfills
this need.

What are the three primary sections of the statement of cash flows? In what
section would the payment of a cash dividend be shown?

The sections of the statement of cash flows are:
Cash flows from operating activities
Cash flows from investing activities
Cash flows from financing activities

The payment of cash dividends falls into the financing activities category.

What is free cash flow? Why is it important to leveraged buyouts?

Free cash flow is equal to cash flow from operating activities:

Minus: Capital expenditures required to maintain the productive capacity
of the firm.
Minus: Dividends (required to maintain the payout on common stock and

to cover any preferred stock obligation).

The analyst or banker normally looks at free cash flow to determine whether
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2-10.

there are sufficient excess funds to pay back the loan associated with the
leveraged buyout.

Why is interest expense said to cost the firm substantially less than the actual
expense, while dividends cost it 100 percent of the outlay?

Interest expense is a tax deductible item to the corporation, while dividend
payments are not. The net cost to the corporation of interest expense is the
amount paid multiplied by the difference of one minus the applicable tax rate.

For example, $100 of interest expense costs the company $65 after taxes when
the corporate tax rate is 35 percent—for example, $100 x (1 — 0.35) = $65.
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Problems

1.  Income Statement (LO1) Frantic Fast Foods had earnings after taxes of $1,070,000 in
the year 2012 with 311,000 shares outstanding. On January 1, 2013, the firm issued
31,000 new shares. Because of the proceeds from these new shares and other operating
improvements, earnings after taxes increased by 24 percent.

a. Compute earnings per share for the year 2012.
b.  Compute earnings per share for the year 2013.

2-1. Solution:

Frantic Fast Foods
a. Year 2012

Earnings per share Earning after
taxes Shares outstanding

$1,070,000

311,000  $3.44

b. Year 2013

Earnings after taxes $1,070,000 1.24 $1,326,800
Shares outstanding $311,000 $31,000 $342,000

Earnings per share $1:826800,, 10y s3.88

2. Income statement (LO1) Sosa Diet Supplements had earnings after taxes of $800,000 in
the year 2011 with 200,000 shares of stock outstanding. On January 1, 2012, the firm
issued 50,000 new shares. Because of the proceeds from these new shares and other
operating improvements, earnings after taxes increased by 30 percent.

a.Compute earnings per share for the year 2011.
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b.  Compute earnings per share for the year 2012.
2-2. Solution:

Sosa Diet Supplements

a. Year 2011

Earnings per share = Earnings after taxes
Shares outstanding

= $800,000 = $4.00
200,000

b. Year 2012

Earnings after taxes $800,000 1.30  $1,040,000
Shares outstanding 200,000 50,000 250,000

Earning per share 1.040 OOO250,000 $4.16

3. a.Gross profit (LO1) Hillary Swank Clothiers had sales of $444,000 and cost of goods
sold of $296,000. What is the gross profit margin (ratio of gross profit to sales)?

b.  If the average firm in the clothing industry had a gross profit of 30 percent, how is the

firm doing?
2-3. Solution:
Hillary Swank Clothiers
A SAIES o $444,000
Costof goods sold .........cccveeviieniinnnnnn, 296.000
Gross Profit ......ocovveeoeveeeieeeeineeins $148,000

Gross Profit Margin ~ Gr0ss Profit $148,000 33 339,
Sales 444,000

b. With a gross profit of 33.33 percent, the firm is
outperforming the industry average of 30 percent.
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4.  Operating profit (LO1) A-Rod Fishing Supplies had sales of $2,500,000 and cost of
goods sold of $1,710,000. Selling and administrative expenses represented 10 percent
of sales. Depreciation was 6 percent of the total assets of $4,680,000. What was the
firm’s operating profit?

2-4. Solution:
A-Rod Fishing Supplies
SAlES .. $2,500,000
Cost of goods sold ........ccceevvvveviie i, 1,710,000
Gross Profit .......cccevvveiiie e, 790,000
Selling and administrative expense*.............. 250,000
Depreciation eXpense™™ .........cccccevvvveviveenninnns 280,800
Operating Profit .......cccccevvveivieeve e $ 259,200
*10% x $2,500,000 = $250,000
** 6% x $4,680,000 = $280,800
5. Income statement (LO1) Arrange the following income statement items so they are in
the proper order of an income statement:
Taxes Earnings per share
Shares outstanding Earnings before taxes
Interest expense Cost of goods sold
Depreciation expense Earnings after taxes
Preferred stock dividends Earnings available to common
Operating profit stockholders
Sales Selling and administrative expense
Gross profit
2-5.  Solution:
Sales
— Cost of goods sold
Gross profit

— Selling and administrative expense
— Depreciation expense

Operating profit

— Interest expense
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Earnings before taxes

— Taxes

Earnings after taxes

— Preferred stock dividends

Earnings available to common stockholders
Shares outstanding
Earnings per share

6. Income statement (LO1) Given the following information, prepare in good form an
income statement for the Dental Drilling Company.

Selling and administrative EXPeNse .........cccovvvrverereerienienieenns $ 112,000
Depreciation expense 73,000
SAIBS i s 489,000
INTEIEStEXPENSE ..ovviiiiiiiieiie st 45,000
Cost 0f OOAS SOIA ... 156,000
TAXES .ottt 47,000

2-6. Solution:
Dental Drilling Company

Income Statement

SAIES ..o $ 489,000
Costof goodssold ........cccceeevviiiieeiiiiec e, $156.000
Gross Profit .......coceevveeeiiiiiiicecccee e, $ 333,000
Selling and administrative expense................ $112,000
Depreciation eXpense .........ccccevvvveeeeviieeeesnnnn $ 73.000
Operating Profit .........cccceeeeveeciieiiee e, $ 148,000
INtErest EXPENSE ......evvviiiiiiiiiiiiiiiee e, $ 45.000
Earnings before taxes .......cccccovevvvveiiiinnnn, $ 103,000
TAXES it _$47.000
Earnings after taxes .......c.cccocvevvvvevinecnnnnn, $ 56,000
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7. Income statement (LO1) Given the following information, prepare in good form an
income statement for Jonas Brothers Cough Drops.

Selling and administrative eXPense .........cccceererereneneeeennns $ 283,000
Depreciation EXPENSE ......cvevveireiiereesiee e e ste et 190,000
SAIES ..o s 2,020,000
INTErESTEXPENSE ...viiiviiiesiiie ettt 123,000
Cost 0f go0dS SOId .....covvveciiice e 506,000
LN 165,000

2-7. Solution:

Jonas Brothers Cough Drops
Income Statement

SAlES .o $2,020,000
Costof goods sold ........coccvvveeiiiieciiiiiceee, 506.000
Gross Profit ......coovevvieeiie e, 1,514,000
Selling and administrative expense ................ 283,000
Depreciation eXPense .......cccevvveeeeiieeesseneeenns 190.000
Operating Profit .........ccccoveeviee i, 1,041,000
INterest eXPenSe .....ccccvveviveevie e 123.000
Earnings before taxes .......cccccoeevveviveeinnn, 918,000
TAXES e 165.000
Earnings after taxes .........ccccoeeevvieieeninennn, $ 753,000

8.  Determination of profitability (LO1) Prepare in good form an income statement for
Franklin Kite Co. Inc. Take your calculations all the way to computing earnings

per share.
SALES e $900,000
Shares oUtSTANTING ....c.eeoveeiiieiie e 50,000
Cost 0F gO0dS SOIA .......ccvveiieeeie e 400,000
INEreSt EXPENSE ...vviiiiie et 40,000
Selling and administrative eXpPense .........ccoceeevereneneneniennnns 60,000
Depreciation EXPENSE ......ccvveivieiiieiie e sie e et 20,000
Preferred stock dividends ..........ooovvcveeeiiiiiiee e 80,000
TAXES e 50,000
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2-8. Solution:

Franklin Kite Company
Income Statement

SAIES ..o $900,000
Cost of goods sold .........ccccveeeviiieeciiiiieeccinee, 400,000

Gross Profit ......ccoevvveieviiiee e, 500,000
Selling and administrative expense ................ 60,000
Depreciation eXPense ........ccocceevvvveeeeviveeeeenne 20,000

Operating profit ......c..ccoeveeviieciiie i, $420,000
INtErest EXPENSE ...covvvvvveeii e 40,000

Earnings before taxes .........ccccovvevvevvieinenne. $390,000
TAXES vttt 120.000

Earnings after taxes ........cccoeeeveeeceecvecnnnn, $270,000
Preferred stock dividends .........ccceevvvveeeeevennnee, 80,000
Earnings available to common stockholders. 190,000
Shares outstanding .........ccccccvevviiniciiiesiee e, 50,000
Earnings per share .........cccceveeevievesiieesie e $3.80

9.  Determination of profitability (LO1) Prepare in good form an income statement for
Virginia Slim Wear. Take your calculations all the way to computing earnings per share.

SAIES ..o $1,450,000
Shares OULSTANAING .....vovvveerieie e 107,000
Cost 0f gOOAS SOIA ......cveveeiiciee e e 920,000
INTEIEST EXPENSE .ovvieieiiiie ittt 30,000
Selling and administrative eXpPense .........cccovvvevreneeienieneninns 46,000
Depreciation EXPENSE ......ceciveeiieieere eeteeriesee e 29,000
Preferred stock dividends ........c..eovevvcvveiieeiiieieeee e 89,000
LI 2 TR URS TSP 101,000

2-9. Solution:

Virginia Slim Wear
Income Statement

SAIES ... $1,450,000
Costof goods sold ........cccvvevviiiiiiiiiiiiiee 920.000
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Gross Profit .....cccoeeveeviiee e, 530,000
Selling and administrative expense ................ 46,000
Depreciation eXPense ........ccccceevvvvveeeeviveeeeennne, 29,000

Operating profit ........ccoceeevviieeeiiieee e, 455,000
INtErest EXPENSE ...covvvveveeii i 30.000

Earnings before taxes .......cccccovevvevivieinnnn, 425,000
TAXES wvvteeeriie e ~101.000

Earnings after taxes ........cccecvveevviveeeninenn, 324,000
Preferred stock dividends .............cccccvvevinenen 89.000
Earnings available to common stockholders. $ 235,000
Shares outstanding ...........ccccoceeviieeviiecvieeen, 107,000
Earnings per share ........cccceeeeeivieecivee s, $2.20

10. Income statement (LO1) Precision Systems had sales of $820,000, cost of goods of
$510,000, selling and administrative expense of $60,000, and operating profit of $103,000.

What was the value of depreciation expense? Set this problem up as a partial income
statement, and determine depreciation expense as the plug figure.

2-10. Solution:

Precision Systems

SAIES ..o $820,000
Cost of goods sold ........cccccvvveviiieiiiic e, 510,000
Gross pProfit ......ocoovveeviiie e, 310,000
Selling and administrative expense ................ 60,000
Depreciation (plug figure) .......ccceeeveveeinnnn. 147.000
Operating profit ........cccoocvvveiiiiieie e, $103,000

11. Depreciation and earnings (LO1) Stein Books Inc. sold 2,000 finance textbooks for $270
each to High Tuition University in 2013. These books cost $240 to produce. Stein Books
spent $12,400 (selling expense) to convince the university to buy its books.

Depreciation expense for the year was $15,400. In addition, Stein Books borrowed
$106,000 on January 1, 2013, on which the company paid 16 percent interest. Both the
interest and principal of the loan were paid on December 31, 2013. The publishing firm’s
tax rate is 30 percent.

Did Stein Books make a profit in 2013? Please verify with an income statement
presented in good form.
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2-11. Solution:

12.

Stein Books Inc.
Income Statement
For the Year Ending December 31, 2013

Sales (2,000 books at $270each) ........c.ccccevveeveviiinnnen, $540,000
Cost of goods sold (2,000 books at $240 each) ........... 480,000
GroSS Profit ...oveeeiiieicceee e 60,000
SelliNg EXPENSE ..o 12,400
Depreciation EXPENSE .....cvvveevreeeeiiie e cree e _15.400
Operating profit...... .o $ 32,200
Interest expense ($106,000 X 1690) ........cccevvevrverrrennenn, 16,960
Earnings before taxes ........ccccvvveviiei v, 15,240
TAXES @ 3090 ..ot s 4572
Earnings after taxes ........cccccevveeeieieciecieee e, $10,668

Determination of profitability (LO1) Lemon Auto Wholesalers had sales of $1,570,000
in 2013 and cost of goods sold represented 70 percent of sales. Selling and administrative
expenses were 12 percent of sales. Depreciation expense was $14,000 and interest expense
for the year was $15,000. The firm’s tax rate is 30 percent.

a.
b.

Compute earnings after taxes.

Assume the firm hires Ms. Carr, an efficiency expert, as a consultant. She suggests that

by increasing selling and administrative expenses to 14 percent of sales, sales can be
increased to $1,620,600. The extra sales effort will also reduce cost of goods sold to 66
percent of sales. (There will be a larger markup in prices as a result of more aggressive

selling.) Depreciation expense will remain at $14,000. However, more automobiles will

have to be carried in inventory to satisfy customers, and interest expense will go up to

$22,600. The firm’s tax rate will remain at 30 percent. Compute revised earnings after
taxes based on Ms. Carr’s suggestions for Lemon Auto
Wholesalers. Will her ideas increase or decrease profitability?

2-11



Chapter 02: Review of Accounting

2-12. Solution:

Lemon Auto Wholesalers
Income Statement

Q. SAlES .o
Cost of goods sold (70% of sales) ..........cccceevee.

SsmBrattt administrative eXpense: e

(12% OF SAIES) .evvevveeeeciee e,
Depreciation ..........cccvvvveeeiieeeniie e

Operating profit .........cccceevveieiiie e
INtErest EXPENSE .....c.evvvveeiiiiiie e

Earnings before taxes ........cccccoeevviee e,
TAXES @ 3090 ..o s

Earnings after taxes.........ccccoccveviveevieecnineene,

D, SAlES .o
Cost of goods sold (66% of sales) .....................

SefhiRgaRECAministrative eXpense -« e,

(14% Of SAlES) ..eeevveeeciiie e
Depreciation ..........cccvevveeeviies e

Operating profit .........ccccev v
INtErest EXPENSE ......evvvveeiiiiiee e

Earnings before taxes ........cccccoeveviee e,
TAXES @ 3090 e

Earnings after taxes........... et —————————
Ms. Carr’s ideas will increase profitability.

$1,570,000
$1,099,000

$ 471,000

$ 188,400
$ 14,000
$ 268,600
$ 15.000
$ 253,600
$ 76.080
$ 177,520

$1,620,600
$1,069,596

$ 551,004

$ 226,884
$ 14,000

$ 310,120
$ 22,600

$ 287,520
$ 86.256

$ 201,264

13. Balance sheet (LO3) Classify the following balance sheet items as current or

noncurrent:
Retained earnings Bonds payable
Accounts payable Accrued wages payable
Prepaid expenses Accounts receivable
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Plant and equipment Capital in excess of par

Inventory Preferred stock

Common stock Marketable securities
2-13. Solution:

Retained earnings — noncurrent
Accounts payable — current
Prepaid expense — current

Plant and equipment — noncurrent
Inventory — current

Common stock — noncurrent
Bonds payable — noncurrent
Accrued wages payable — current
Accounts receivable — current
Capital in excess of par — noncurrent
Preferred stock — noncurrent
Marketable securities — current

14. Balance sheet and income statement classification (LO1 & 3) Fill in the blank spaces
with categories 1 through 7:

1. Balance sheet (BS) 5. Current liabilities (CL)
2. Income statement (IS) 6. Long-term liabilities (LL)
3. Current assets (CA) 7. Stockholders’ equity (SE)

4.  Fixed assets (FA)

Indicate Whether

Item Is on Balance If on Balance
Sheet (BS) or Sheet, Designate
Income Which
Statement (IS) Category Item

Accounts receivable

Retained earnings

Income tax expense

Accrued expenses

Cash

Selling and administrative expenses
Plant and equipment

Operating expenses

Marketable securities

Interest expense
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Sales

Notes payable (6 months)

Bonds payable, maturity 2019
Common stock

Depreciation expense
Inventories

Capital in excess of par value
Net income (earnings after taxes)
Income tax payable

2-14. Solution:

Balance Sheet (BS)

Income Statement (1S)
Current Assets (CA)

Fixed Assets (FA)

Current Liabilities (CL)
Long-Term Liabilities (LL)
Stockholders Equity (SE)

NoobkownE

2-14. (Continued)

Indicate If Item Is

Whether on

Item is on Balance

Income Sheet,

Statement or | Designate

Balance Which

Sheet Category Item
BS CA Accounts Receivable
BS SE Retained Earnings
IS Income Tax Expense
BS CL Accrued Expenses
BS CA Cash
IS Selling and Administrative expenses
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BS FA Plant & Equipment

IS Operating Expenses

BS CA Marketable Securities

IS Interest Expense

IS Sales

BS CL Notes Payable (6 Months)

BS LL Bonds Payable (Maturity 2019)
BS SE Common Stock

IS Depreciation Expense

BS CA Inventories

BS SE Capital in Excess of Par Value
IS Net Income (Earnings after Taxes)
BS CL Income Tax Payable

15. Development of balance sheet (LO3) Arrange the following items in proper balance
sheet presentation:

Accumulated depreciation...........ccoeevrererins vvreeenereenee $377,000
Retained  arnings.........c.ueieiiieriniiniiies e 87,000
CaASN. e 12,000
Bonds payable.........cooiiiiiiiis e 215,000
Accounts receivable............ooeiiiiiiiiies e 52,000
Plant and equipment—original CoSt...........c.ccocvvt vovrriiinieninn 844,000
Accounts payable...........cooiiiiiiiiic et e 38,000
Allowance for bad debts...........ccooviiiiiinies o 13,000
Common stock, $1 par, 100,000 shares outstanding..... ........ 100,000
INVENTOTY....eiiieee et e 66,000
Preferred stock, $56 par, 1,000 shares outstanding... ............ 56,000
Marketable SECUFITIES. ......ccoevieiiiiiiiiiiis e 26,000
INVESTMENTS. ...t s 22,000
NOtes payable..........ccoieiiiiiiiees s 41,000
Capital paid in excess of par (common Stock)......... .cc.cceveene 95,000
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2-15. Solution:

Assets
Current Assets:

Marketable securities ..................
Accounts receivable ....................
Less: Allowance for bad debts
Inventory ...........oo e,
Total current assets .................
Other Assets:
INVESTMENTS ..o,
Fixed Assets:
Plant and equipment ....................
Less: Accumulated depreciation
Net plant and equipment .............
Total aSSetS ...cvvvvveeveeiieiieeireeeenn,

$ 52,000
13,000

$844,000
3/7.000

Liabilities and Stockholders’ Equity

Current Liabilities:
ACCOUNES PAYADIE ....vvvvrirerriee s
NOteS Payable ..o
Total current HADIILIES ......coovvvvvrrrrrineriri
Long-term liabilities ........ccccoverevrvvrinrsviisnisriinninnn, :
Bonds payable ...,
Total HADIIIES ...vovvvrverrrsrrieerisnesresrirnons
Stockholders’ equity:
Preferred stock, $56 par, 1,000 shares outstanding ..
Common stock, $1 par, 100,000 shares outstanding

Capital paid in excess of par (common stock) .........
REtained  aMINGS ........ovvvvvervrvrvrsrrrsssssnsesesssssnsens

Total stockholders’ eQUILY ........c.ouvvvrivvveierernriinnes
Total liabilities and stockholders’ equity ...........

2-16

$ 12,000

26,000

39,000

66.000
$143,000

22,000

467,000

$.632,000

$ 38,000
41,000

$ 79,000

215.000
$294,000

56,000
100,000
95,000
87.000

$338,000

$632,000
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16. Earnings per share and retained earnings (LO1 and 3) Elite Trailer Parks has an
operating profit or $200,000. Interest expense for the year was $10,000; preferred
dividends paid were $18,750; and common dividends paid were $30,000. The tax was
$61,250. The firm has 20,000 shares of common stock outstanding.

a.  Calculate the earnings per share and the common dividends per share for Elite Trailer
Parks.
b.  What was the increase in retained earnings for the year?

2-16. Solution:
Elite Trailer Parks

a. Operating profit (EBIT) ...ccoovevviviiecciece e, $200,000
INtErest EXPENSE ......vvvveeeiiiieeee e 10,000
Earnings before taxes (EBT) .....cccccoceeveveirccecnne, $190,000
TAXES ettt 61.250
Earnings after taxes (EAT)....cccoovviiiiv e, $128,750
Preferred dividends .........cccccve e iiiecciic e, 18.750
Available to common stockholders ............ccoeee.. $110,000
Common dividends .........ccccocoveviiiniiiee e, 30,000
Increase in retained earnings ........cccccevcvveevveee e, $80,000

Earnings Available to Common Stockholders
Number of Shares of Com. Stock Outstanding

$110,000/20,000 shares

$5.50 per share

Dividends per share = $30,000/20,000 shares

= $1.50 per share

b. Increase in retained earnings = $80,000
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17. Earnings per share and retained earnings (LO1 and 3) Quantum Technology had
$688,000 of retained earnings on December 31, 2013. The company paid common
dividends of $33,900 in 2013 and had retained earnings of $591,000 on December 31,
2012. How much did Quantum Technology earn during 2013, and what would earnings per
share be if 48,300 shares of common stock were outstanding?

2-17. Solution:
Quantum Technology
Retained earnings, December 31, 2013 ..........ccccovvennen. $688,000
Less: Retained earnings, December 31, 2012 ................ 591.000
Change in retained earnings ..........ccccceveviveervvennnnnn, $97,000
Add: Common stock dividends ...........ccccoceeveeiiiiecinnnn, 33.900
Earnings available to common stockholders ................. $130,900

Earnings per share

$130,900
48,300 shares $2.71per share

18. Price/earning ratio (LOZ2) Botox Facial Care had earnings after taxes of $370,000 in 2012
with 200,000 shares of stock outstanding. The stock price was $31.50. In 2013, earnings
after taxes increased to $436,000 with the same 200,000 shares outstanding. The stock
price was $42.00.

a. Compute earnings per share and the P/E ratio for 2012.

(The P/E ratio equals the stock price divided by earnings per share.)
b.  Compute earnings per share and the P/E ratio for 2013.
c.  Give a general explanation of why the P/E ratio changed.

2-18. Solution:
Botox Facial Care

$370,000 _
a. EPS (2012) ob00 =S8
P/E ratio (2012) = Price/EPS = gigg = 17.03x
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. EPS (201 436,000 _ ¢ 4
b. EPS (2013) 00000 $2.18
P/E ratio (2013) = Price/EPS = g-‘l’g = 19.27x

c. The stock price increased by 33.33% while EPS
only increased 17.84%.

19. Price/earning ratio (LOZ2) Stilley Corporation had earnings after taxes of $436,000 in
2013 with 200,000 shares outstanding. The stock price was $42.00. In 2014, earnings after
taxes declined to $206,000 with the same 200,000 shares outstanding. The stock price
declined to $27.80.

a. Compute earnings per share and the P/E ratio for 2013.

b.  Compute earnings per share and the P/E ratio for 2014.
c.  Give a general explanation of why the P/E changed. You might want to consult
the textbook to explain this surprising result.

2-19. Solution:
Stilley Corporation
. EPS (201 436,000 _ ¢ 4
a. EPS (2013) Y0000 - 9218
P/E ratio (2013) = Price/EPS = 23.013 =19.27x
$206,000
b. EPS (2014) 200000 103
P/E ratio (2014) = Price/EPS = ?$7180% 26.99x

c. Asexplained in the text, when EPS drops rapidly, the stock
price might not decline as much, and the P/E ratio rises.
A higher P/E ratio under adverse conditions is not a positive.

20. Cash flow (LO4) Identify whether each of the following items increases or
decreases cash flow:

Increase in accounts receivable Decrease in prepaid expenses
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Increase in notes payable Increase in inventory
Depreciation expense Dividend payment
Increase in investments Increase in accrued expenses

Decrease in accounts payable

2-20. Solution:

21.

Increase in accounts receivable — decreases cash flow (use)
Increase in notes payable — increases cash flow (source)
Depreciation expense — increases cash flow (source)
Increase in investments — decreases cash flow (use)
Decrease in accounts payable — decreases cash flow (use)
Decrease in prepaid expense — increases cash flow (source)
Increase in inventory — decreases cash flow (use)

Dividend payment — decreases cash flow (use)

Increase in accrued expenses — increases cash flow (source)

Depreciation and cash flow (LO5) The Rogers Corporation has a gross profit of
$880,000 and $360,000 in depreciation expense. The Evans Corporation also has $880,000
in gross profit, with $60,000 in depreciation expense. Selling and administrative expense is
$120,000 for each company.

Given that the tax rate is 40 percent, compute the cash flow for both companies.
Explain the difference in cash flow between the two firms.
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2-21. Solution:
Rogers Corporation — Evans Corporation

Rogers Evans

....................................... Grossprofit | $880,000  $880,000
............ Sellingandadm.expense 120,000 120,000
..................................... Depreciation 360,000 60,000
................................ Operatingprofit | $400,000f  $700,000
..................................... Taxes(40%) 160,000 280,000
.......................... Earningsaftertaxes $240,000,  $420,000
................ Plusdepreciationexpense $360,000 $60,000

Cashflow ........ocoeeveiecee e, $600,000 $480,000

Rogers had $300,000 more in depreciation which
provided $120,000 (0.40 $300,000) more in cash flow.

22. Free cash flow (LO4) Nova Electrics anticipated cash flow from operating activities of $8
million in 2011. It will need to spend $5.5 million on capital investments in order to
remain competitive within the industry. Common stock dividends are projected at $0.6
million and preferred stock dividends at $0.4 million.

a.  What is the firm’s projected free cash flow for the year 20117
b.  What does the concept of free cash flow represent?

2-22. Solution:
Nova Electronics

a. Cash flow from operations activities $8.00 million
— Capital expenditures 5.50
— Common stock dividends 0.60
— Preferred stock dividends 0.40
Free cash flow $1.50 million

b. Free cash flow represents the funds that are available for
special financial activities, such as a leveraged buyout,
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increased dividends, common stock repurchases,
acquisitions, or repayment of debt.

23. Book value (LO3) Landers Nursery and Garden Stores has current assets of $220,000
and fixed assets of $170,000. Current liabilities are $80,000 and long-term liabilities are
$140,000. There is $40,000 in preferred stock outstanding and the firm has issued 25,000
shares of common stock. Compute book value (net worth) per share.

2-23. Solution:
Landers Nursery and Garden Stores

CUMTENt SSELS ...vvviveeieciee e $220,000
FIXed @SSELS .....vvveeeiiiee e 170,000
TOAl ASSELS ...vveeeeeee ettt $390,000
— Current liabilities ..........ccccccooeiiii i 80,000
— Long-term liabilities ............ccccooiveiiiiiinen, 140.000
Stockholders’ equity ........ccccoeeveieeiecviciieen, $170,000
— Preferred stock obligation ...........c.c.ccceenen, 40,000
Net worth assigned to common ....................... $130.000
Common shares outstanding ...........ccccevevvernnen. 25,000
Book value (net worth) per share ..................... $ 520

24. Book value and market value (LO2 and 3) The Holtzman Corporation has assets of
$388,000, current liabilities of $74,000, and long-term liabilities of $95,000. There is
$38,800 in preferred stock outstanding; 20,000 shares of common stock have been issued.

a.  Compute book value (net worth) per share.

b.  If there is $31,900 in earnings available to common stockholders, and Holtzman’s
stock has a P/E of 23 times earnings per share, what is the current price of the stock?

c.  What is the ratio of market value per share to book value per share?

2-24. Solution:
Holtzman Corporation

A, TOtal @SSELS ...covveeeeeeeecee e $388,000
— Current Habllities ...ooovvveeieiieeeeee 74,000
— Long-term liabilities ............ccccoovvveinnenn, 95,000
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— Stockholders’ equity .........cccccevevvenecnnene, $219,000

— Preferred stoCK .......ooovcvvviiiiiee e, 38.800

Net worth assigned to common ............. $180,200

Common shares outstanding .............. 20,000

Book values (net worth) per share ......... $9.01

b. Earnings available to common .................. $31,900

Shares outstanding...........ccccccoevvvveeciiiineennn, 20,000

Earnings pershare .........ccccoeeveveeevieeennnnnn $1.595
P/E ratio earnings per share price

23 $1.595 $36.685

c. Market value per share (price) to book value
per share $36.685/$9.01 = 4.07

25. Book value and market value (LO2 and 3) Amigo Software Inc. has total assets of
$889,000, current liabilities of $192,000, and long-term liabilities of $154,000. There is
$87,000 in preferred stock outstanding. Thirty thousand shares of common stock have
been issued.

a.  Compute book value (net worth) per share.

b.  If there is $56,300 in earnings available to common stockholders, and the firm’s stock
has a P/E of 23 times earnings per share, what is the current price of the stock?

c.  What is the ratio of market value per share to book value per share? (Round to
two places to the right of the decimal point.)
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2-25. Solution:

Amigo Software, Inc.

A Total @SSELS ...vocveveieiceeee e, $889,000
— Current liabilities ...........ccccoveeviieennne, 192,000

— Long-term liabilities ...........ccccooeviinnnnn 154,000
Stockholders’ eqUItY .......ccovevevveeivenene, $543,000

— Preferred StocK .........coceevieeiiieciiiicien, 87,000

Net worth assigned to common ............. $456,000
Common shares outstanding .................. 30,000

Book value (net worth) per share ........... $ 15.20

b. Earnings available to common ..................

Shares outstanding..........cccccevvvviiveiirinnnn, $56,300
. 30,000

Earnings per share .........ccccoevevveveevvesinnne, $ 188

P/E ratio x  earnings pershare =  price

23 X $1.88 =  $43.24

c. Market value per share (price) to book value per
share $43.24/$15.20 = 2.84

26. Book value and P/E ratio (LO2 and 3) Vriend Software Inc.’s book value per share is
$15.20. Earnings per share is $1.88, and the firm’s stock trades in the stock market at 3.5
times book value per share, what will the P/E ratio be? (Round to the nearest whole number.)
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2-26. Solution:

Vriend Software Inc.

3.5 x book value per share = price

3.5 x $15.20 = $53.20

Price
= P/E

Earnings per share

$53:20

=28.30 P/E ratioround to 28x

$1.88

27. Construction of income statement and balance sheet (LO1 and 3) For December 31,
2012, the balance sheet of Baxter Corporation was as follows:

Current Assets

Cash....cccoieeee $ 30,000
Accounts receivable ................... 35,000
INVENTOTY ..o 45,000
Prepaid eXpenses ........ccccuevvnins 14,000
Fixed Assets
Plant and equipment (gross)....... $270,000
Less: Accumulated ...................
depreciation ...........cccccevveiivennnnn 54,000
Net plantand equipment ............. 216.000
Total asSets ......cccvvvvvveriiiiiiiiennn $340,000

Liabilities
Accounts payable ... $ 32,000
Notes payable .............. 40,000
Bonds payable .............. 70,000
Stockholders’ Equity

Preferred stock ..........ccu...... 40,000

Common stock ..........ccceeeene 75,000

Paid-in capital ..................... 45,000

Retained earnings ............... 38.000

Total liabilities and

stockholders’ equity ............ $340,000

Sales for 2013 were $320,000, and the cost of goods sold was 50 percent of sales. Selling and
administrative expense was $32,000. Depreciation expense was 8 percent of plant and
equipment (gross) at the beginning of the year. Interest expense for the notes payable was
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10 percent, while the interest rate on the bonds payable was 12 percent. This interest
expense is based on December 31, 2012 balances. The tax rate averaged 40 percent.

$4,000 in preferred stock dividends were paid and $7,000 in dividends were paid to

common stockholders. There were 10,000 shares of common stock outstanding.

During 2013, the cash balance and prepaid expenses balances were unchanged.
Accounts receivable and inventory increased by 10 percent. A new machine was

purchased on December 31, 2013, at a cost of $55,000.

Accounts payable increased by 25 percent. Notes payable increased by $8,000 and
bonds payable decreased by $20,000, both at the end of the year. The preferred stock,

common stock, and paid-in capital in excess of par accounts did not change.

a.  Prepare an income statement for 2013.
b.  Prepare a statement of retained earnings for 2013.
c.  Prepare a balance sheet as of December 31, 2013.

2-27. Solution:

Baxter Corporation
2013 Income Statement

A SAIES .o
Cost of good sold (50%) .......ccccceevvveeiiieerinnnnn,
Gross Profit .......cccvveviee e

Selling and administrative eXpense ..................
Depreciation expense (8%) ........cccccvvvvvveiiunnnnn,
Operating profit (EBIT) ..o,
INtEreSt EXPENSE ...cevvvvviiriiiiiiieiee e
Earnings before taxes .........ccccovvvevvvvieeiiinnnn,

TaXeS (40%0) ...vvveiiieeciie e

Earnings after taxes (EAT) wcccovvvvivveeiinnnnn,
Preferred stock dividends ...........cccccooevveeineen,
Earnings available to common stockholder .....
Shares outstanding...........ccccceveiieiiieeeviie i,
Earnings per share .........ccccvvvvevivieiieenie e

b. 2013 Statement of Retained Earnings

Retained earnings balance, January 1, 2013 ....
1 8% x $270,000 = $21,600

Z(10% x $40,000) + (12% x $70,000) = $12,400
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Add: Earnings available to common

stockholders, 2013 ......ccccoovvvevriierinnrinnen, 52,400
Deduct: Cash dividend declared in 2013 ......... 7,000
Retained earnings balance,

December 31, 2013 ... $83,400

2-27. (Continued)
C. 2013 Balance Sheet
Current Assets Liabilities
Accounts

Cash.............. $30.000|| payable _$40,000

Accounts
receivable........ 38,500(| Notes payable.... 48,000

Inventory......... 49,500 || Bonds payable... | __50,000
Prepaid
expenses 14.000
$132,000 $138,000
Fixed Assets Stockholders’ Equity
Preferred stock... | $ 40,000
Gross plant...... | _$325,000 || Common stock... | _75.000
Accumulated Paid in capital in
depr............ __(75,600)°|| excess of par... | _45.000
Retained

Net plant........ _249,400 earnings 83.400
Total liability &

Total assets..... $381,400 || equity........... $381,400

3 $54,000 + $21,600 = $75,600
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28. Statement of cash flows (LO4) Refer to the following financial statements for
Crosby Corporation:

a) Prepare a statement of cash flows for the Crosby Corporation using the
general procedures indicated in Table 2-10.

b) Describe the general relationship between net income and net cash flows from operating
activities for the firm.

¢) Has the buildup in plant and equipment been financed in a satisfactory manner? Briefly
discuss.

d) Compute the book value per common share for both 2010 and 2011 for the
Crosby Corporation.

e) If the market value of a share of common stock is 3.3 times book value for 2004, what
is the firm’s P/E ratio for 20117

CROSBY CORPORATION
Income Statement
For the Year Ended December 31, 2011

SAIES ..o s $2,200,000
Cost 0f gOOAS SOI ... e 1,300,000

GrosS ProfitS ......ccveiiiie e 900,000
Selling and administrative eXpense ..........cccceevevveieerieseereeennenns 420,000
Depreciation EXPENSE ........ccviririeieie et 150.000

OPErating iINCOME ... " 330,000
INTErEST EXPENSE ... 90.000

Earnings before taxes ..........co.covwvvereeesreessessresessnesnee. " 240,000
TAXES et e 80.000

Earnings after taXxes ........ccoovvvereeie s 160,000
Preferred Stock dividends ..........ccocvevvieierenene e . 10,000
Earnings available to common stockholders...........ccccooervnnnene. $ 150,000
Shares oULSTANING .....cooviviiiiieie e 120,000
Earnings Pershare ..........ccocoevvveveeieicceec e $ 1.25

Statement of Retained Earnings
For the Year Ended December 31, 2011

Retained earnings, balance, January 1, 2011 ............ccccevvrennenn $500,000
Add: Earnings available to common stockholders, 2011 ....... 150,000
Deduct: Cash dividends declared and paid in 2011 ............... 50,000

Retained earnings, balance, December 31, 2011 ........ccccecveneee $600,000

Comparative Balance Sheets
For 2010 and 2011
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Year-End  Year-End
Assets 2010 2011
Current assets:
CaSN. et $70,000 $100,000
Accounts receivable (Net) .....ccccvvvverveieieseee e 300,000 350,000
INVENTOTY ..o 410,000 430,000
Prepaid EXPENSES ......civeeieeieiiesieesie e seesie e e sae e re e e snee e 50.000 30.000
Total CUMTENE SSETS ....veivviviiiiiieieee e 830,000 910,000
Investments (long-term SECUNItIes) ......cccvveveevieiieevieeseere e 80,000 70,000
Plant and eqUIPMENT .......ooviiiieiee e 2,000,000 2,400,000
Less: Accumulated depreciation ...........cccccveeevvereeiiesinennns 1.000.000 _1.150,000
Net plant and eqUIPMENT ..........cooviiiinieieee e 1,000,000 _1.250,000
TOAl ASSELS ...vviiiriiccrie et $1:916;6600 $2,236;0060
Liabilities and Stockholders’ Equity
Current liabilities:
Accounts Payable ... $ 250,000 $ 440,000
Notes payable ..o 400,000 400,000
ACCIUE EXPENSES. ...cuvieveeieieiieeie e ete e sre e sreeste e e e 70,000 50,000
Total current Habilities .......ccevviiviiiiiiiceie e 720,000 890,000
Long-term liabilities:
Bonds payable, 2011 ........cccceviiieiiee e 70.000 120.000
Total [1abilities ......cooveeie 790,000 1,010,000
Stockholders’ equity:
Preferred stock, $100 par value .........ccccooevvveieieiieienn 90,000 90,000
Common stock, $1 par value ..........ccccceeviiiiiieieiiieeen, 120,000 120,000
Capital paid in excess Of Par .........cccovevvreniniieieicseee 410,000 410,000
Retained earnings ........cccvevveieeie e 500,000 600,000
Total stockholders’ equity..........coccoceviviiiiiiicccee, 1,120,000 _1.220.000
Total liabilities and stockholders’ equity .........cccccvevviieieennene. $1,910,000 $2,230,000

(The following questions apply to the Crosby Corporation, as presented in Problem 27.)
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Solution 2-28 a):

Crosby Corporation
Statement of Cash Flows
For the Year Ended December 31, 2011

Cash flows from operating activities:
Net income (earnings after taxes) ........... $160,000
Adjustments to determine cash
flow from operating activities: ............

Add back depreciation .............cc.......... $150,000
Increase in accounts receivable ........... (50,000)
Increase in iNVENtOry ........cccceevvvvennnnn, (20,000)
Decrease in prepaid expenses............... 20,000
Increase in accounts payable ............... 190,000
Decrease in accrued expenses.............. (20,000)
Total adjustments ..........ccccccveeenneen, $270,000
Net cash flows from operating
ACHIVITIES ..o $430,000
Cash flows from investing activities:
Decrease in investments ............cceeveen. 10,000
Increase in plant and equipment ............. (400,000)
Net cash flows from investing activities (390,000)
Cash flows from financing activities:
Increase in bonds payable ...................... 50,000
Preferred stock dividends paid ............... (10,000)
Common stock dividends paid ............... (50,000)
Net cash flows from financing ................ (10.000)
Net increase (decrease) in cash flows ....... $ 30,000

The student should observe that the increase in cash flows of
$30,000 equals the $30,000 change in the cash account on the
balance sheet. This indicates the statement Is correct.
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Solution 2-28 b):

Cash flows from operating activities far exceed net income.
This occurs primarily because we add back depreciation of
$319,000 and accounts payable increase by $248,000. Thus,
the reader of the cash flow statement gets important insights as
to how much cash flow was developed from daily operations.

Solution 2-28 ¢):

The buildup in plant and equipment of $690,000 (gross) and
$371,000 (net) has been financed, in part, by the large increase
in accounts payable (248,000). This is not a very satisfactory
situation. Short-term sources of funds can always dry up, while
fixed asset needs are permanent in nature. This firm may wish
to consider more long-term financing, such as a mortgage, to go
along with profits, the increase in bonds payable, and the add-
back of depreciation.

Solution 2-28 d):

Book value = Stockholders' equity Preferred stock
per share Common shares outstanding
Book value
$1,120,000 $90,000
per share _ _ -$1.030.000_ ¢5 59
(2010) 120,000 120,000
Book value
per share _ $1,220,000 $90,000  _ $1.130.000 _ $9.42

(2011) 120,000 120,000
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Solution 2-28 e):

Market value =3.3 x $9.42 =$31.09

P/ E ratio = Market value /
Earnings per share

=$31.09/%$1.25
=24.87
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